Chapter 13 - Analyzing and Interpreting Financial Statements

Chapter 13

Analyzing and Interpreting Financial Statements  


True / False Questions
   
[Question]

1. Financial statement analysis is the application of analytical tools to general-purpose financial statements and related data for making business decisions. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-C1
 
[Question]

2. Financial statement analysis can be used for personal investment decisions. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-C1
 
[Question]

3. The evaluation of company performance and financial condition includes evaluation of (1) past and current performance, (2) current financial position and (3) future performance and risk. 
Answer:  TRUE

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
AICPA FN: Risk Analysis
Difficulty: Medium
Learning Objective: 13-C1
 
[Question]

4. One purpose of financial statement analysis for internal users is to provide information helpful in improving the company's efficiency and effectiveness in providing products and services. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-C1
 
[Question]

5. Profitability is the company’s ability to generate future revenues and meet long-term financial obligations. 
Answer:  FALSE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-C2
 
[Question]

6. Liquidity and efficiency are considered the building blocks of financial statement analysis. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-C2
 
[Question]

7. Market prospects are the ability to provide financial rewards sufficient to attract and retain financing. 
Answer:  FALSE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-C2
 
[Question]

8. Profitability is the ability to generate positive market expectations. 
Answer:  FALSE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-C2
 
[Question]

9. Financial reporting includes not only general purpose financial statements, but also information from SEC filings, press releases, shareholders' meetings, forecasts, management letters, auditor's reports and Webcasts. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-C2
 
[Question]

10. Standards for comparison are necessary when making judgments about a company's financial performance. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-C2
 
[Question]

11. Measures taken from a selected competitor or a group of competitors are often excellent standards of comparison for analysis. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-C2
 
[Question]

12. General standards or guidelines of comparisons include the 2 to 1 for the current ratio and 1 to 1 for the acid-test ratio. 
Answer:  TRUE

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-C2
 
[Question]

13. Vertical analysis is the comparison of a company's financial condition and performance through time. 
Answer:  FALSE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-C1
 
[Question]

14. Horizontal analysis is the comparison of a company's financial condition and performance to a base amount. 
Answer:  FALSE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-C1
 
[Question]

15. A financial statement analysis report should include a brief table of contents to help users focus on those areas most relevant to their decisions. 
Answer:  TRUE

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-A1
 
[Question]

16. A financial statement analysis report helps to reduce uncertainty in business decisions through a rigorous and sound evaluation. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-A1
 
[Question]

17. A good financial statement analysis report often includes the following sections: Executive summary, analysis overview, evidential matter, assumptions, key factors and inferences. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-A1
 
[Question]

18. Extraordinary items are reported in the operating section of the income statement. 
Answer:  FALSE

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-A2
 
[Question]

19. A company can change from one acceptable accounting principle to another as long as the change improves the usefulness of information in its financial statements. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-A2
 
[Question]

20. If a company's activities include operations that are being discontinued, the income or loss effects of the discontinued operations are included on the income statement as part of income from continuing operations. 
Answer:  FALSE

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-A2
 
[Question]

21. Expropriation of property by a foreign government is considered an extraordinary item. 
Answer:  TRUE

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-A2
 
[Question]

22. The "cumulative effect of a change in accounting principles" is shown below extraordinary items section on the income statement. 
Answer:  TRUE

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-A2
 
[Question]

23. Comparative financial statements are reports that show financial amounts placed side by side in columns on a single statement for analysis purposes. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P1
 
[Question]

24. Trend analysis is a form of horizontal analysis that can reveal patterns in data across successive periods. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P1
 
[Question]

25. Comparative horizontal analysis is used to reveal patterns in data covering successive periods. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-P1
 
[Question]

26. The percent change is computed by subtracting the analysis period amount from the base period amount, then dividing the result by the base period amount and then multiplying that result by 100. 
Answer:  FALSE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P1
 
[Question]

27. Vertical analysis is a tool to evaluate individual financial statement items or groups of items in terms of a specific base amount. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P2
 
[Question]

28. Horizontal analysis is used to reveal changes in the relative importance of each financial statement item. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P2
 
[Question]

29. An advantage of common-size statements is that they reflect the relative sizes of different companies under analysis. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-P2
 
[Question]

30. A corporation reported cash of $14,000 and total assets of $178,300. Its common-size percent for cash equals 7.85%. 
Answer:  TRUE

Feedback:  ($14,000/$178,300) x 100 = 7.85%

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P2
 
[Question]

31. Ratios can be expressed as a percent, rate or proportion. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P3
 
[Question]

32. Ratios analysis eliminates all of the differences of GAAP versus IFRS financial reporting.
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Global
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P3
 
[Question]

33. Liquidity refers to the availability of resources to meet short-term cash requirements. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P3
 
[Question]

34. Working capital is computed as current liabilities minus current assets. 
Answer:  FALSE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P3
 
[Question]

35. The current ratio is calculated as current liabilities divided by current assets. 
Answer:  FALSE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P3
 
[Question]

36. Total asset turnover reflects a company's ability to use its assets to generate sales and is an important indication of operating efficiency. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P3
 
[Question]

37. Capital structure refers to a company's long-run financial viability and its ability to cover long-term obligations. 
Answer:  FALSE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P3
 
[Question]

38. The use of horizontal and vertical analysis eliminates many differences between GAAP and IFRS, but the user must exercise some caution when drawing conclusions from these reports.
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Global
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-P3
 
[Question]

39. The greater the times interest earned ratio, the greater the risk a company is exposed to. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-P3
 
[Question]

40. Efficiency refers to how productive a company is in using its assets and is usually measured relative to how much revenue is generated from a certain level of assets. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-P3
 
[Question]

41. The higher the accounts receivable turnover, the slower the accounts receivable are collected. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-P3
 
[Question]

42. A company with a high inventory turnover requires a smaller investment in inventory than one producing the same sales with a lower turnover. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-P3
 
[Question]

43. A rough guideline states that for a company with no discounts offered, days' sales uncollected should not exceed 1 times the days in its credit period. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-P3
 
[Question]

44. A company that has days' sales uncollected of 30 days and days' sales in inventory of 18 days implies that inventory will be converted to cash in about 12 days. 
Answer:  FALSE

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-P3
 
[Question]

45. The return on total assets can be calculated as the profit margin times the total asset turnover. 
Answer:  TRUE

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-P3
 
[Question]

46. The return on total equity measures a company's success in reaching the goal of earning net income for its owners. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-P3
 
[Question]

47. A high level of expected risk suggests a low price-earnings ratio. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-P3
 
[Question]

48. The return on total assets ratio is a profitability measure. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P3
 
[Question]

49. A company reports basic earnings per share of $3.50, cash dividends per share of $0.75 and a market price per share of $64.75. The company's dividend yield equal is equal to 21.4%. 
Answer:  FALSE

Feedback:  $0.75/$64.75 = 1.16%

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P3
 
 

Multiple Choice Questions
 

[Question]

50. External users of financial information: 
A. Are those individuals involved in managing and operating the company
B. Include internal auditors and consultants
C. Are not directly involved in operating the company
D. Make strategic decisions for a company
E. Make operating decisions for a company

Answer:  C

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-C1
 
[Question]

51. Internal users of financial information: 
A. Are not directly involved in operating a company
B. Are those individuals involved in managing and operating the company
C. Include shareholders and lenders
D. Include directors and customers
E. Include suppliers, regulators and the press

Answer:  B

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-C1
 
[Question]

52. Financial reporting refers to: 
A. The application of analytical tools to general-purpose financial statements
B. The communication of relevant financial information to decision makers
C. Financial statements only
D. Ratio analysis
E. Profitability

Answer:  B

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-C2
 
[Question]

53. The ability to meet short-term obligations and to efficiently generate revenues is called: 
A. Liquidity and efficiency
B. Solvency
C. Profitability
D. Market prospects
E. Creditworthiness

Answer:  A

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-C2
 
[Question]

54. The ability to generate future revenues and meet long-term obligations is referred to as: 
A. Liquidity and efficiency
B. Solvency
C. Profitability
D. Market prospects
E. Creditworthiness

Answer:  B

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-C2
 
[Question]

55. The ability to provide financial rewards sufficient to attract and retain financing is called: 
A. Liquidity and efficiency
B. Solvency
C. Profitability
D. Market prospects
E. Creditworthiness

Answer:  C

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-C2
 
[Question]

56. The ability to generate positive market expectations is called: 
A. Liquidity and efficiency
B. Liquidity and solvency
C. Profitability
D. Market prospects
E. Creditworthiness

Answer:  D

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-C2
 
[Question]

57. Intracompany standards for financial statement analysis: 
A. Are often based on a company's prior performance
B. Are often set by competitors
C. Are set by the company's industry
D. Are based on rules of thumb
E. Are published in Dun and Bradstreet

Answer:  A

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-C2
 
[Question]

58. Industry standards for financial statement analysis: 
A. Are based on a company's prior performance
B. Are set by the government
C. Are set by the financial performance and condition of the company's industry
D. Are based on rules of thumb
E. Compare a company's income with the prior year's income

Answer:  C

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-C2
 
[Question]

59. Guidelines (rules-of-thumb) are developed from: 
A. Industry statistics from the government
B. Past experience
C. Analysis of competitors
D. Relations between financial items
E. Dun and Bradstreet

Answer:  B

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-C2
 
[Question]

60. The three most common tools of financial analysis are: 
A. Financial reporting, ratio analysis, vertical analysis
B. Ratio analysis, horizontal analysis, financial reporting
C. Horizontal analysis, vertical analysis, ratio analysis
D. Trend analysis, financial reporting, ratio analysis
E. Vertical analysis, political analysis, horizontal analysis

Answer:  C

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-C1
 
[Question]

61. The comparison of a company's financial condition and performance across time is known as: 
A. Horizontal analysis
B. Vertical analysis
C. Political analysis
D. Financial reporting
E. Investment analysis

Answer:  A

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-C1
 
[Question]

62. The measurement of key relations among financial statement items is known as: 
A. Financial reporting
B. Horizontal analysis
C. Investment analysis
D. Ratio analysis
E. Risk analysis

Answer:  D

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-C1
 
[Question]

63. The comparison of a company's financial condition and performance to a base amount is known as: 
A. Financial reporting
B. Horizontal ratios
C. Investment analysis
D. Risk analysis
E. Vertical analysis

Answer:  E

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-C1
 
[Question]

64. Which of the following financial statements sections includes information on the background on a company, its industry and its economic setting?
A. Executive summary
B. Analysis overview
C. Evidential conclusions
D. Factor analysis
E. Inferences

Answer:  B

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-A1
 
 
[Question]

65. Reporting of discontinued segments includes: 
A. Income or loss from operating the discontinued segment net of tax and gain or loss from disposal of the segment's net assets net of tax
B. Extraordinary items
C. Changes in accounting principle
D. Items that are both unusual and infrequent
E. Writing off of receivables

Answer:  A

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-A2
 
[Question]

66. Extraordinary items: 
A. Are not reported on a corporate income statement
B. Are included in income from operations
C. Are unusual and infrequent
D. Include changes in accounting principle
E. Are disclosed before discontinued operations on the income statement

Answer:  C

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-A2
 
[Question]

67. A change in inventory reporting from LIFO to FIFO is: 
A. An extraordinary item
B. A discontinued item
C. Not allowed once lower of cost or market is applied
D. Allowed, if it improves the usefulness of information in the financial statements
E. Not reported, as it is considered a change in accounting estimate

Answer:  D

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-A2
 
[Question]

68. Which of the following items is not likely to be considered an extraordinary item? 
A. Loss from an unexpected union strike
B. Condemnation of property by the city government
C. Loss of use of property due to a new and unexpected environmental regulation
D. Loss due to an earthquake in Florida
E. Expropriation of property by a foreign government

Answer:  A

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-A2
 
[Question]

69. Financial statements with data for two or more successive accounting periods placed in columns side by side, sometimes with changes shown in dollar amounts and percents, are referred to as: 
A. Period-to-period statements
B. Controlling statements
C. Successive statements
D. Comparative statements
E. Serial statements

Answer:  D

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P1
 
[Question]

70. Horizontal analysis: 
A. Is a method used to evaluate changes in financial data across time
B. Is also called vertical analysis
C. Is the presentation of financial ratios
D. Is a tool used to evaluate financial statement items relative to industry statistics
E. Evaluates financial data across industries

Answer:  A

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P1
 
[Question]

71. Trend analysis is also called: 
A. Financial analysis
B. Ratio analysis
C. Index number trend analysis
D. Industry analysis
E. Output analysis

Answer:  C

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P1
 
[Question]

72. The dollar change for a financial statement item is calculated by: 
A. Subtracting the analysis period amount from the base period amount
B. Subtracting the base period amount from the analysis period amount
C. Subtracting the analysis period amount from the base period amount, dividing the result by the base period amount, then multiplying that amount by 100
D. Subtracting the base period amount from the analysis period amount, dividing the result by the base period amount, then multiplying that amount by 100
E. Subtracting the base period amount from the analysis amount, then dividing the result by the base amount

Answer:  B

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-P1
 
[Question]

73. A company's sales in 2010 were $250,000 and in 2011 were $287,500. Using 2010 as the base year, the sales trend percent for 2011 is: 
A. 87%
B. 100%
C. 115%
D. 15%
E. 13%

Answer:  C

Feedback: ($287,500/$250,000) x 100 = 115%

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-P1
 
[Question]

74. In horizontal analysis the percent change is computed by: 
A. Subtracting the analysis period amount from the base period amount
B. Subtracting the base period amount from the analysis period amount
C. Subtracting the analysis period amount from the base period amount, dividing the result by the base period amount, then multiplying that amount by 100
D. Subtracting the base period amount from the analysis period amount, dividing the result by the base period amount, then multiplying that amount by 100
E. Subtracting the base period amount from the analysis amount, then dividing the result by the analysis period amount

Answer:  D

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P1
 
[Question]

75. Selected comparative income statement amounts for a company are shown below. Using 2010 as the base year for a horizontal analysis, compute the account with the most significant change.

 

	
	2010
	2011

	Sales
	$400,000
	$520,000

	General and Administrative Expenses
	$27,000
	$29,700

	Interest Expense
	$1,000
	$1,700

	Miscellaneous Expense
	$100
	$200


  
A. Sales
B. General and Administrative Expenses
C. Interest Expense
D. Miscellaneous Expense
E. Cannot be determined from the given data

Answer:  A

Feedback:

Reference to the dollar amounts is necessary to assess the importance of changes.

	
	2010
	2011
	Dollar Change
	Percent Change

	Sales
	$400,000
	$520,000
	$120,000
	30%

	General and Administrative Expenses
	$27,000
	$29,700
	$2,700
	10%

	Interest Expense
	$1,000
	$1,700
	$700
	70%

	Miscellaneous Expense
	$100
	$200
	$100
	100%


 

Bloom’s Taxonomy: Evaluate
AACSB: Analytic
AACSB: Communication
AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Decision Making
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P1
 
[Question]

76. Based on the data given below, which of the following statements are true?

 

	Case
	Analysis Period
	Base Period

	A
	$1,500
	$(4,500)

	B
	(1,000)
	2,000

	C
	8,000
	---

	D
	0
	$10,000


  
A. The percent change for case C is 100%
B. A percent change either cannot be computed or is not meaningful for cases A, B, C and D
C. A percent change either cannot be computed or is not meaningful for case C
D. A percent change either cannot be computed or is not meaningful for cases B and C
E. A percent change either cannot be computed or is not meaningful for cases A, B and C

Answer:  B
 

Bloom’s Taxonomy: Evaluate
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P1
 
[Question]
77. In which comparative financial statements is each amount expressed as a percentage of a base amount?
A. Asset comparative statements
B. Percentage comparative statements
C. Common-size comparative statements
D. Sales comparative statements
E. General-purpose financial statements

Answer:  C

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P2
 
[Question]

78. Comparative financial statements in which each amount is expressed as a percentage of a base amount and in which the base amount is expressed as 100%, are called: 
A. Comparative statements
B. Common-size comparative statements
C. General-purpose financial statements
D. Base line statements
E. Index statements

Answer:  B

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P2
 
[Question]

79. Common-size statements: 
A. Reveal changes in the relative magnitude of each financial statement item
B. Do not emphasize the relative magnitude of each item
C. Compare financial statements over time
D. Show the dollar amount of change for financial statement items
E. Consist of two or more balance sheets arranged side-by-side

Answer:  A

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-P2
 
[Question]

80. The common-size percent is computed by: 
A. Dividing the analysis amount by the base amount
B. Dividing the base amount by the analysis amount
C. Dividing the analysis amount by the base amount and multiplying the result by 100
D. Dividing the base amount by the analysis amount and multiplying the result by 1,000
E. Subtracting the base amount from the analysis amount and multiplying the result by 100

Answer:  C

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P2
 
[Question]

81. A company is preparing a common size balance sheet and wishes the base amount to be the total amount of assets. What are the 2010 and 2011 common-size percents for cash?

 

	
	2010
	2011

	Cash
	$21,904
	$32,203

	Total current assets
	101,769
	141,128

	Property and equipment
	112,577
	202,558

	Long-term investments
	12,700
	4,344

	Intangible assets 
	16,621
	48,703

	Other long-term assets 
	11,709
	13,754

	Total assets
	$255,376
	$410,487


  
A. 21.52% in 2010 and 22.82% in 2011
B. 7.90% in 2010 and 7.27% in 2011
C. 8.58% in 2010 and 7.85% in 2011
D. 19.30% in 2010 and 20.79 in 2011
E. The percent cannot be computed for 2010 and 47.01% in 2011
Answer:  C

Feedback:

2010 Common Size Percent = $21,904/$255,376 = 8.58%
2011 Common Size Percent = $32,203/$410,487 = 7.84%

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P2
 
82. Oakley Corporation has the following comparative income statements. Which of the following statements is false with regard to this comparative data?

 

	Oakley Corporation

Comparative Income Statements

For years ended December 31, 2011 and 2010

	
	2011
	2010

	Sales
	$360,000
	$267,500

	Cost of goods sold
	237,600
	140,170

	Gross profit
	122,400
	127,330

	Operating expenses
	75,600
	51,895

	Net income
	$46,800
	$75,435


  
A. The common-size sales percent for 2011 equals 100%
B. The common-size net income percent for 2010 equals 28.2%
C. The common-size gross profit percent for 2011 equals (3.87)%
D. The common-size cost of goods sold for 2010 equals 52.4%
E. Statements B and D are false

Answer:  C

Feedback: The correct gross profit percent for 2011 = $122,400/$360,000 = 34%

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P2
 
[Question]

83. Current assets minus current liabilities is equal to: 
A. Profit margin
B. Financial leverage
C. Current ratio
D. Working capital
E. Quick assets

Answer:  D

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P3
 
[Question]

84. Current assets divided by current liabilities is equal to the: 
A. Current ratio
B. Quick ratio
C. Debt ratio
D. Liquidity ratio
E. Solvency ratio

Answer:  A

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P3
 
[Question]

85. Quick assets divided by current liabilities is equal to the: 
A. Acid-test ratio
B. Current ratio
C. Working capital ratio
D. Current liability turnover ratio
E. Quick asset turnover ratio

Answer:  A

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P3
 
[Question]

86. Net sales divided by average accounts receivable is equal to the: 
A. Days' sales uncollected
B. Average accounts receivable ratio
C. Current ratio
D. Profit margin
E. Accounts receivable turnover ratio

Answer:  E

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P3
 
[Question]

87. Dividing accounts receivable by net sales and multiplying the result by 365 is equal to the: 
A. Profit margin
B. Days' sales uncollected
C. Accounts receivable turnover ratio
D. Average accounts receivable ratio
E. Current ratio

Answer:  B

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P3
 
[Question]

88. Dividing ending inventory by cost of goods sold and multiplying the result by 365 is equal to the: 
A. Inventory turnover ratio
B. Profit margin
C. Days' sales in inventory
D. Current ratio
E. Total asset turnover

Answer:  C

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P3
 
[Question]

89. Net sales divided by average total assets is equal to the: 
A. Profit margin
B. Total asset turnover
C. Current ratio
D. Sales return ratio
E. Return on total assets

Answer:  B

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P3
 
[Question]

90. Net income divided by net sales is equal to the: 
A. Return on total assets
B. Profit margin
C. Current ratio
D. Total asset turnover
E. Days' sales in inventory

Answer:  B

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P3
 
[Question]

91. Net income divided by average total assets is equal to the: 
A. Profit margin
B. Total asset turnover
C. Return on total assets
D. Days' income in assets
E. Current ratio

Answer:  C

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P3
 
[Question]

92. Annual cash dividends per share divided by market price per share is equal to the: 
A. Price-earnings ratio
B. Price-dividends ratio
C. Profit margin
D. Dividend yield ratio
E. Earnings per share

Answer:  D

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-P3
 
[Question]

93. The average number of times a company's inventory is sold during an accounting period, calculated by dividing cost of goods sold by the average inventory balance is equal to the: 
A. Accounts receivable turnover
B. Inventory turnover
C. Days' sales uncollected
D. Current ratio
E. Price earnings ratio

Answer:  B

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-P3
 
[Question]

94. A component of operating efficiency and profitability, calculated by expressing net income as a percent of net sales is equal to the: 
A. Acid-test ratio
B. Merchandise turnover
C. Price earnings ratio
D. Accounts receivable turnover
E. Profit margin ratio

Answer:  E

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-P3
 
[Question]

95. One of several ratios that reflects solvency includes the: 
A. Acid-test ratio
B. Current ratio
C. Times interest earned ratio
D. Total asset turnover
E. Days' sales in inventory

Answer:  C

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P3
 
[Question]

96. A company had a market price of $37.50 per share, earnings per share of $1.25 and dividends per share of $0.40. Its price-earnings ratio is equal to: 
A. 3.1
B. 30.0
C. 93.8
D. 32.0
E. 3.3

Answer:  B

Feedback:  $37.50/$1.25 = 30.0

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P3
 
[Question]

97. A company had a market price of $83.12 per share, earnings per share of $4.87 and dividends per share of $5.40. Its price-earnings ratio is equal to: 
A. .056
B. .065
C. 8.09
D. 15.39
E. 17.07

Answer:  E

Feedback: $83.12/$4.87 = 17.07

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P3
 
[Question]

98. A company had a market price of $8.22 per share, earnings per share of $1.01 and dividends per share of $0.32. Its price-earnings ratio is equal to: 
A. 8.14
B. 25.69
C. 6.18
D. .039
E. .123

Answer: A

Feedback:

$8.22/$1.01 = 8.14

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P3
 
[Question]

99. A company had a profit margin of 8%. If net income equaled $40,000 and average total assets equaled $332,500, how much were net sales? 
A. $3,200
B. $500,000
C. $26,600
D. $4,156,250
E. $372,500

Answer:  B

Feedback:  $40,000/.08 = $500,000

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P3
 
[Question]

100. A company has a profit margin of 12%. If net income is equal to $450,000 and average total asset is equal to $600,500, how much are sales? 
A. $1,050,500
B. $126,060
C. $72,060
D. $54,000
E. $3,750,000

Answer:  E

Feedback: $450,000/.12 = $3,750,000

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P3
 
[Question]

101. A company has a profit margin of 5%. If net income is equal to $83,000 and average total assets is equal to $45,000, how much are net sales? 
A. $4,150
B. $2,250
C. $1,660,000
D. $6,400
E. $128,000

Answer:  C

Feedback: $83,000/.05 = $1,660,000

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P3
 
[Question]

102. A company has a profit margin of 8%. If net income is equal to $40,000 and average total assets is equal to $332,500, how much are net sales? 
A. $3,200
B. $500,000
C. $26,600
D. $4,156,250
E. $372,500

Answer:  B

Feedback: $40,000/.08 = $500,000

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P3
 
[Question]

103. A company had a return on common stockholders' equity of 22%. Net income equaled $600,000 and average common stockholders' equity equaled $2,500,000. Compute the amount of the preferred dividends declared. 
A. $50,000
B. $550,000
C. $132,000
D. $10,763,636
E. $10,000

Answer:  A

Feedback:
(Net Income - Preferred dividends)/Average common stockholders' equity = 22%
($600,000 – Preferred dividends)/$2,500,000 = 22%
($600,000 – Preferred dividends)  = 22% x $2,500,000
($600,000 – Preferred dividends)  = $550,000
($600,000 – $550,000)  = $50,000 preferred dividends

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P3
 
[Question]

104. A company had a return on common stockholders' equity of 25%. Net income equaled $200,000 and average common stockholders' equity equaled $700,000. Compute the amount of the preferred dividends declared. 
A. $200,000
B. $500,000
C. $50,000
D. $25,000
E. $175,000

Answer:  D

Feedback:

(Net Income - Preferred dividends)/Average common stockholders' equity = 25%
($200,000 – Preferred dividends)/$700,000 = 25%
($200,000 – Preferred dividends)  = 25% x $700,000
($200,000 – Preferred dividends)  = $175,000
($200,000 – $175,000)  = $25,000 preferred dividends

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P3
 
 

[Question]
105. Corona Company's balance sheet accounts follow: 
	  At December 31
	2011
	2010
	2009

	  Assets
	 
	 
	 

	  Cash
	$25,868  
	$31,163  
	$31,182  

	  Accounts receivable, net
	78,034  
	53,995  
	41,152  

	  Merchandise inventory
	95,120  
	73,491  
	46,095  

	  Prepaid expenses
	8,330  
	8,099  
	3,429  

	  Plant assets, net
	241,854  
	218,932  
	199,542  

	  Total assets
	$449,206  
	$385,680  
	$321,400  

	  Liabilities and Equity
	 
	 
	 

	  Accounts payable
	$108,058  
	$67,135  
	$42,849  

	  Long-term notes payable secured by mortgages   on plant assets
	85,791  
	87,819  
	71,029  

	  Common stock, $10 par value
	162,500  
	162,500  
	162,500  

	  Retained earnings
	92,857  
	68,226  
	45,022  

	  Total liabilities and equity
	$449,206  
	$385,680  
	$321,400  

	



What is Corona Company’s debt to equity ratio for 2010? 
A. 1.49
B. .71
C. .40
D. 4.39
E. .67

Answer:  E

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P3


[Question]
106. Corona Company's balance sheet accounts follow: 
	  At December 31
	2011
	2010
	2009

	  Assets
	 
	 
	 

	  Cash
	$25,868  
	$31,163  
	$31,182  

	  Accounts receivable, net
	78,034  
	53,995  
	41,152  

	  Merchandise inventory
	95,120  
	73,491  
	46,095  

	  Prepaid expenses
	8,330  
	8,099  
	3,429  

	  Plant assets, net
	241,854  
	218,932  
	199,542  

	  Total assets
	$449,206  
	$385,680  
	$321,400  

	  Liabilities and Equity
	 
	 
	 

	  Accounts payable
	$108,058  
	$67,135  
	$42,849  

	  Long-term notes payable secured by mortgages   on plant assets
	85,791  
	87,819  
	71,029  

	  Common stock, $10 par value
	162,500  
	162,500  
	162,500  

	  Retained earnings
	92,857  
	68,226  
	45,022  

	  Total liabilities and equity
	$449,206  
	$385,680  
	$321,400  

	



What is Corona Company’s accounts receivable turnover ratio for 2010 assuming net sales for the period were $1,236,783? 
A. 27.21
B. 25.99
C. 22.91
D. 30.05
E. 15.85

Answer:  B

Feedback:  1,236,783/((41,152+53,995)/2) = 25.99

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P3

[Question]
107. Corona Company's balance sheet accounts follow: 
	  At December 31
	2011
	2010
	2009

	  Assets
	 
	 
	 

	  Cash
	$25,868  
	$31,163  
	$31,182  

	  Accounts receivable, net
	78,034  
	53,995  
	41,152  

	  Merchandise inventory
	95,120  
	73,491  
	46,095  

	  Prepaid expenses
	8,330  
	8,099  
	3,429  

	  Plant assets, net
	241,854  
	218,932  
	199,542  

	  Total assets
	$449,206  
	$385,680  
	$321,400  

	  Liabilities and Equity
	 
	 
	 

	  Accounts payable
	$108,058  
	$67,135  
	$42,849  

	  Long-term notes payable secured by mortgages   on plant assets
	85,791  
	87,819  
	71,029  

	  Common stock, $10 par value
	162,500  
	162,500  
	162,500  

	  Retained earnings
	92,857  
	68,226  
	45,022  

	  Total liabilities and equity
	$449,206  
	$385,680  
	$321,400  

	



What is Corona Company’s inventory turnover ratio for 2011 assuming net sales and gross profit for the period were $1,236,783, $927,587 respectively? 
A. 10.96
B. 3.25
C. 3.00
D. 3.65
E. 4.20

Answer:  D

Feedback:  (1,236,783-927,587)/((73,491+95,120)/2) = 3.65

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P3

[Question]
108. Corona Company's balance sheet accounts follow: 
	  At December 31
	2011
	2010
	2009

	  Assets
	 
	 
	 

	  Cash
	$25,868  
	$31,163  
	$31,182  

	  Accounts receivable, net
	78,034  
	53,995  
	41,152  

	  Merchandise inventory
	95,120  
	73,491  
	46,095  

	  Prepaid expenses
	8,330  
	8,099  
	3,429  

	  Plant assets, net
	241,854  
	218,932  
	199,542  

	  Total assets
	$449,206  
	$385,680  
	$321,400  

	  Liabilities and Equity
	 
	 
	 

	  Accounts payable
	$108,058  
	$67,135  
	$42,849  

	  Long-term notes payable secured by mortgages   on plant assets
	85,791  
	87,819  
	71,029  

	  Common stock, $10 par value
	162,500  
	162,500  
	162,500  

	  Retained earnings
	92,857  
	68,226  
	45,022  

	  Total liabilities and equity
	$449,206  
	$385,680  
	$321,400  

	



What is Corona Company’s days’ sales uncollected ratio for 2011 assuming net sales and gross profit for the period were $1,236,783, $927,587 respectively? 
A. 25.20
B. 23.03
C. 20.99
D. 24.58
E. 22.17

Answer:  B

Feedback:  (78,034/1,236,783)*365 = 23.03

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P3

[Question]
109. Corona Company's balance sheet accounts follow: 
	  At December 31
	2011
	2010
	2009

	  Assets
	 
	 
	 

	  Cash
	$25,868  
	$31,163  
	$31,182  

	  Accounts receivable, net
	78,034  
	53,995  
	41,152  

	  Merchandise inventory
	95,120  
	73,491  
	46,095  

	  Prepaid expenses
	8,330  
	8,099  
	3,429  

	  Plant assets, net
	241,854  
	218,932  
	199,542  

	  Total assets
	$449,206  
	$385,680  
	$321,400  

	  Liabilities and Equity
	 
	 
	 

	  Accounts payable
	$108,058  
	$67,135  
	$42,849  

	  Long-term notes payable secured by mortgages   on plant assets
	85,791  
	87,819  
	71,029  

	  Common stock, $10 par value
	162,500  
	162,500  
	162,500  

	  Retained earnings
	92,857  
	68,226  
	45,022  

	  Total liabilities and equity
	$449,206  
	$385,680  
	$321,400  

	



What is Corona Company’s days’ sales in inventory ratio for 2011 assuming net sales and gross profit for the period were $1,236,783, $927,587 respectively? 
A. 86.75
B. 112.29
C. 105.41
D. 75.35
E. 107.11

Answer:  B

Feedback:  (95,120/309,196)*365 = 112.29

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P3

[Question]
110. Corona Company's balance sheet accounts follow: 
	  At December 31
	2011
	2010
	2009

	  Assets
	 
	 
	 

	  Cash
	$25,868  
	$31,163  
	$31,182  

	  Accounts receivable, net
	78,034  
	53,995  
	41,152  

	  Merchandise inventory
	95,120  
	73,491  
	46,095  

	  Prepaid expenses
	8,330  
	8,099  
	3,429  

	  Plant assets, net
	241,854  
	218,932  
	199,542  

	  Total assets
	$449,206  
	$385,680  
	$321,400  

	  Liabilities and Equity
	 
	 
	 

	  Accounts payable
	$108,058  
	$67,135  
	$42,849  

	  Long-term notes payable secured by mortgages   on plant assets
	85,791  
	87,819  
	71,029  

	  Common stock, $10 par value
	162,500  
	162,500  
	162,500  

	  Retained earnings
	92,857  
	68,226  
	45,022  

	  Total liabilities and equity
	$449,206  
	$385,680  
	$321,400  

	



What is Corona Company’s current ratio for 2011?

A. 1.96
B. 2.32
C. 1.07
D. 1.92
E. 2.17

Answer:  D

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P3

[Question]

111. Simple Simon’s balance sheet and income statement accounts follow:
	  At December 31
	2011
	2010
	2009

	  Assets
	 
	 
	 

	  Cash
	$30,872  
	$36,086  
	$37,974  

	  Accounts receivable, net
	89,476  
	63,151  
	50,632  

	  Merchandise inventory
	112,499  
	83,450  
	54,467  

	  Prepaid expenses
	9,942  
	9,473  
	4,219  

	  Plant assets, net
	291,143  
	268,126  
	244,108  

	  Total assets
	$533,932  
	$460,286  
	$391,400  

	  Liabilities and Equity
	 
	 
	 

	  Accounts payable
	$130,290  
	$76,233  
	$50,632  

	  Long-term notes payable secured by   mortgages on plant assets
	98,372  
	103,748  
	107,769  

	  Common stock, $10 par value
	142,500  
	132,500  
	102,500  

	  Retained earnings
	182,770  
	147,805  
	130,499  

	  Total liabilities and equity
	$533,932  
	$460,286  
	$391,400  

	



	  For Year Ended December 31
	2011
	2010

	  Sales
	 
	$694,112  
	 
	$547,740  

	  Cost of goods sold
	$423,408  
	 
	$356,031  
	 

	  Other operating expenses
	215,175  
	 
	138,578  
	 

	  Interest expense
	11,800  
	 
	12,598  
	 

	  Income taxes
	9,023  
	 
	8,216  
	 

	  Total costs and expenses
	 
	659,406  
	 
	515,423  

	  Net income
	 
	$34,706  
	 
	$32,317  

	  Earnings per share
	 
	$2.14  
	 
	$1.99  

	



What is Simple Simon’s return on common stockholders’ equity ratio for 2010?

A. 27.5%
B. 25.4%
C. 12.6%
D. 29.4%
E. 19.5%

Answer:  C
Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P3

[Question]

112. Simple Simon’s balance sheet and income statement accounts follow: 
	  At December 31
	2011
	2010
	2009

	  Assets
	 
	 
	 

	  Cash
	$30,872  
	$36,086  
	$37,974  

	  Accounts receivable, net
	89,476  
	63,151  
	50,632  

	  Merchandise inventory
	112,499  
	83,450  
	54,467  

	  Prepaid expenses
	9,942  
	9,473  
	4,219  

	  Plant assets, net
	291,143  
	268,126  
	244,108  

	  Total assets
	$533,932  
	$460,286  
	$391,400  

	  Liabilities and Equity
	 
	 
	 

	  Accounts payable
	$130,290  
	$76,233  
	$50,632  

	  Long-term notes payable secured by   mortgages on plant assets
	98,372  
	103,748  
	107,769  

	  Common stock, $10 par value
	142,500  
	132,500  
	102,500  

	  Retained earnings
	182,770  
	147,805  
	130,499  

	  Total liabilities and equity
	$533,932  
	$460,286  
	$391,400  

	



	  For Year Ended December 31
	2011
	2010

	  Sales
	 
	$694,112  
	 
	$547,740  

	  Cost of goods sold
	$423,408  
	 
	$356,031  
	 

	  Other operating expenses
	215,175  
	 
	138,578  
	 

	  Interest expense
	11,800  
	 
	12,598  
	 

	  Income taxes
	9,023  
	 
	8,216  
	 

	  Total costs and expenses
	 
	659,406  
	 
	515,423  

	  Net income
	 
	$34,706  
	 
	$32,317  

	  Earnings per share
	 
	$2.14  
	 
	$1.99  

	



What is Simple Simon’s times interest earned ratio for 2010?

A. 3.57%
B. 4.22%
C. 3.69%
D. 2.75%
E. 2.57%

Answer:  B

Feedback:  (32,317+12,598+8,216)/12,598 = 4.22

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-P3

[Question]

113. Simple Simon’s balance sheet and income statement accounts follow: 
	  At December 31
	2011
	2010
	2009

	  Assets
	 
	 
	 

	  Cash
	$30,872  
	$36,086  
	$37,974  

	  Accounts receivable, net
	89,476  
	63,151  
	50,632  

	  Merchandise inventory
	112,499  
	83,450  
	54,467  

	  Prepaid expenses
	9,942  
	9,473  
	4,219  

	  Plant assets, net
	291,143  
	268,126  
	244,108  

	  Total assets
	$533,932  
	$460,286  
	$391,400  

	  Liabilities and Equity
	 
	 
	 

	  Accounts payable
	$130,290  
	$76,233  
	$50,632  

	  Long-term notes payable secured by   mortgages on plant assets
	98,372  
	103,748  
	107,769  

	  Common stock, $10 par value
	142,500  
	132,500  
	102,500  

	  Retained earnings
	182,770  
	147,805  
	130,499  

	  Total liabilities and equity
	$533,932  
	$460,286  
	$391,400  

	



	  For Year Ended December 31
	2011
	2010

	  Sales
	 
	$694,112  
	 
	$547,740  

	  Cost of goods sold
	$423,408  
	 
	$356,031  
	 

	  Other operating expenses
	215,175  
	 
	138,578  
	 

	  Interest expense
	11,800  
	 
	12,598  
	 

	  Income taxes
	9,023  
	 
	8,216  
	 

	  Total costs and expenses
	 
	659,406  
	 
	515,423  

	  Net income
	 
	$34,706  
	 
	$32,317  

	  Earnings per share
	 
	$2.14  
	 
	$1.99  

	



What is Simple Simon’s profit margin ratio for 2011?

A. 65%
B. 12%
C. 3.7%
D. 5.9%
E. 5.0%

Answer:  E
Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-P3

[Question]
114. Simple Simon’s balance sheet and income statement accounts follow:
	  At December 31
	2011
	2010
	2009

	  Assets
	 
	 
	 

	  Cash
	$30,872  
	$36,086  
	$37,974  

	  Accounts receivable, net
	89,476  
	63,151  
	50,632  

	  Merchandise inventory
	112,499  
	83,450  
	54,467  

	  Prepaid expenses
	9,942  
	9,473  
	4,219  

	  Plant assets, net
	291,143  
	268,126  
	244,108  

	  Total assets
	$533,932  
	$460,286  
	$391,400  

	  Liabilities and Equity
	 
	 
	 

	  Accounts payable
	$130,290  
	$76,233  
	$50,632  

	  Long-term notes payable secured by   mortgages on plant assets
	98,372  
	103,748  
	107,769  

	  Common stock, $10 par value
	142,500  
	132,500  
	102,500  

	  Retained earnings
	182,770  
	147,805  
	130,499  

	  Total liabilities and equity
	$533,932  
	$460,286  
	$391,400  

	



	  For Year Ended December 31
	2011
	2010

	  Sales
	 
	$694,112  
	 
	$547,740  

	  Cost of goods sold
	$423,408  
	 
	$356,031  
	 

	  Other operating expenses
	215,175  
	 
	138,578  
	 

	  Interest expense
	11,800  
	 
	12,598  
	 

	  Income taxes
	9,023  
	 
	8,216  
	 

	  Total costs and expenses
	 
	659,406  
	 
	515,423  

	  Net income
	 
	$34,706  
	 
	$32,317  

	  Earnings per share
	 
	$2.14  
	 
	$1.99  

	



What is Simple Simon’s gross margin ratio for 2010?

A. 65%
B. 35%
C. 67%
D. 33%
E. 39%

Answer:  B

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-P3

[Question]

115.  A company has sales of $2,458,422, a gross profit ratio of 23%, a days’ sales in inventory ratio of 12.4, and total current assets of $539,600.  What is the ending inventory for the year?

A. $46,013
B. $58,000
C. $64,310
D. $61,715
E. $55,951

Answer:  C

Feedback:  (X/1,892,985) * 365 = 12.4; X = 64,310

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P3

[Question]

116.  A company has sales of $5,417,000, a gross profit ratio of 35%, ending merchandise inventory of $201,425, and total current assets of $1,539,600.  What is the days sales’ in inventory ratio for the year?

A. 6.10
B. 20.88
C. 26.15
D. 22.67
E. 15.77

Answer:  B

Feedback: (201,425/(5,417,000*.65))*365 = 20.88

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P3

[Question]

117.  A company has long-term notes payable of $175,625, taxes of $9,500, ending merchandise inventory of $450,290, interest expense of $14,050, net sales of $720,000 a gross profit ratio of 35%, a times interest earned ratio of 4.23, and total assets of $1,300,417.  What is the company’s earnings before interest and taxes?

A. $252,000
B. $65,814
C. $269,710
D. 106,696
E. $59,432

Answer:  E

Feedback: (X/14,050) = 4.23; X = 59,432 (rounded)

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P3

[Question]
118.  A company has total assets of $5,600,482, common stock of 2,111,111, retained earnings of $1,058,473.  What is the company’s debt ratio? 

A. 43.41%
B. 65.00%
C. 41.57%
D. 50.00%
E. 42.81%

Answer:  A

Feedback: ((5,600,482-2,111,111-1,058,476)/5,600,482) = 43.41%

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P3

[Question]

119.  A company has total assets of $5,600,482, common stock of 2,111,111, retained earnings of $1,058,473.  What is the company’s equity ratio? 

A. 43.41%
B. 65.00%
C. 41.57%
D. 56.59%
E. 54.22%

Answer:  D
Feedback: ((2,111,111+1,058,473)/5,600,482) = 56.59%

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-P3

Matching Questions
 

[Question]

120. Match each of the following terms with the appropriate definitions. 

	1. Solvency 
	     A statement with data for two or more successive accounting periods placed in side-by-side columns, often with changes shown in dollar amounts and percents. 
	  2 

	2. Comparative financial statement 
	     Examination of financial data across time. 
	  7 

	3. Equity ratio 
	     The availability of resources to meet short-term obligations and to efficiently generate revenues. 
	  8 

	4. Common-size financial statement 
	     The comparison of a company's financial condition and performance to a base amount. 
	  5 

	5. Vertical analysis 
	     The application of analytical tools to general-purpose financial statements and related data for making business decisions. 
	  10 

	6. Market prospects 
	     A company's ability to generate positive market expectations. 
	  6 

	7. Horizontal analysis 
	     A company's ability to generate future revenues and meet long-term obligations. 
	  1 

	8. Liquidity and efficiency 
	     The portion of total assets provided by equity, computed as total equity divided by total assets. 
	  3 

	9. Profitability 
	     A company's ability to provide financial rewards sufficient to attract and retain capital. 
	  9 

	10. Financial statement analysis 
	     A statement where each amount is expressed as a percent of a base amount to reveal the relative importance of each financial statement item. 
	  4 


 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-C1
Learning Objective: 13-C2
Learning Objective: 13-C1
Learning Objective: 13-P1
 
[Question]

121. Match each of the following terms with the appropriate formulas. 

	1. Total asset turnover 
	   (Ending inventory/ cost of goods sold) x 365 
	  2 

	2. Days' sales in inventory 
	Annual cash dividends per share /Market price per share 
	  8 

	3. Days' sales uncollected 
	     Net sales/ Average total assets 
	  1 

	4. Debt ratio 
	     Cost of goods sold /Average inventory 
	  9 

	5. Times interest earned 
	  (Net income - preferred dividends)/ Average common stockholders' equity 
	  6 

	6. Return on common stockholders' equity 
	     (Net sales - Cost of goods sold)/ Net sales 
	  7 

	7. Gross margin ratio 
	     (Accounts receivable x Net Sales) x 365 
	  3 

	8. Dividend yield 
	     Net income /Net sales 
	  10 

	9. Inventory turnover 
	     Income before interest expense and income taxes/ Interest expense 
	  5 

	10. Profit margin ratio 
	     Total liabilities /Total assets 
	  4 


 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-P3
 
 

Essay Questions
 

[Question]

122. Explain the purpose of financial statement analysis for both external and internal users. 

Answer:  

The purpose of financial statement analysis is to assist users to improve the quality of business decisions. The common analytical goals of financial statement users is to evaluate and/or assess a company's (1) past and current performance, (2) current financial position, (3) future performance and risk. External users want information to make decisions such as whether or not to invest in or loan money to a company. Internal users, such as managers, use financial information to guide operating decisions involving their companies.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-C1
 
[Question]

123. Identify and explain the four building blocks of financial statement analysis. 

Answer:

The four usual building blocks of financial statement analysis include (1) liquidity and efficiency, (2) solvency, (3) profitability and (4) market prospects. Liquidity and efficiency are the ability to meet short-term obligations and to efficiently generate revenues. Solvency is the ability to generate future revenues and to meet long-term obligations. Profitability is the ability to provide financial rewards sufficient to attract and retain financing. Market prospects are the ability to generate positive market expectations.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-C2
 
[Question]

124. What are the standards for financial analysis comparison?  Give examples of each. 

Answer:

The standards are intracompany comparisons, comparisons with competitors, industry comparisons and guidelines (or rules of thumb). Intracompany comparisons require that a company compare its own prior performance to current performance. The performance of a company's direct competitor (such as Coke comparing its profit margin to PepsiCo's) is an example of comparisons with competitors. Industry statistics are available from services such as Dun & Bradstreet and a company can compare its results to those industry statistics. There are general standards known as rules of thumb that can be used to evaluate a company's performance. For instance, there is a rule of thumb that a company's current ratio should be no less than 2 to 1.

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-C2
 
[Question]

125. Identify and describe three common tools of financial statement analysis. 

Answer: 

Three common tools of financial statement analysis are: (1) horizontal analysis, which compares a company's financial condition and performance across time; (2) vertical analysis, which compares a company's financial condition and performance to a base amount; and (3) ratio analysis, which uses key relations among financial statement items.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 13-C1
 
[Question]

126. What is the purpose of a good financial statement analysis report? What are the key components? 

Answer:

A good financial statement analysis report serves as a means of communication with financial statement users. The report is usually organized around the building blocks of financial statement analysis. A well-constructed report separates interpretations and conclusions of analysis from the underlying financial information. The separation should enable readers to see both the process and the rationale of the analysis. A financial statement analysis report usually consists of six component sections: (1) executive summary; (2) analysis overview; (3) evidential matter; (4) assumptions; (5) key factors; and (6) inferences.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 13-A1
 
[Question]

127. Explain the form and content of a complete income statement. 

Answer:

A complete income statement has five potential sections: 1) continuing operations, 2) discontinued segments, 3) extraordinary items, 4) changes in accounting principles and 5) earnings per share for a corporation. Many companies only report items from continuing operations, as extraordinary items, discontinued segments and changes in accounting principles are not commonplace. The other items are only included in the periods in which they occur.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-A2
 
[Question]

128. Describe the purpose of horizontal financial statement analysis and how it is applied. 

Answer:

Horizontal analysis is a tool to evaluate changes in financial statement data across time. Comparative statement analysis and trend analysis are two types of horizontal analysis. Comparative statements show amounts for two or more successive periods and may show changes in both absolute dollar amounts or in percents. Trend analysis is used to reveal important changes occurring from one period to the next or over successive financial periods.

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-P1
 
[Question]

129. Describe the purpose of vertical financial statement analysis and how it is applied. 

Answer:

Vertical financial statement analysis is used to evaluate each financial statement item or group of items, in terms of a specific base amount. The base amount for the balance sheet is usually total assets and the base amount for the income statement is usually net sales. The base amount is usually defined as 100%. Common-size financial statements and graphical analysis are two methods of application of vertical financial statement analysis.

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-P2
 
[Question]

130. Describe ratio analysis including its purpose, application and interpretation. 

Answer: A ratio is a mathematical relation between two quantities and can be expressed as either a percent, rate or proportion. Ratios are used to analyze the relations between financial statement items. Ratios can be used to compare to industry standards, a company's competition, budgets or past performance. Ratios are used in all four of the building blocks of financial analysis (liquidity and efficiency, solvency, profitability and market prospects). Ratios are valuable because they can indicate areas of a company's financial situation, which may require further investigation.
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[Question]
131. Explain the composition of retained earnings and identify the special items that are reported in it. 

Answer:  Retained earnings generally consists of a company's cumulative net income less any net losses and dividends declared since its inception. Within retained earnings, companies may report restricted retained earnings, appropriated retained earnings or prior period adjustments. Restrictions of retained earnings may be statutory or contractual. Many states restrict treasury stock purchases to the amount of retained earnings. Appropriated retained earnings refer to a voluntary transfer of amounts from Retained Earnings to Appropriated Retained Earnings to inform users of special activities that require funds. Prior period adjustments are corrections of errors in prior periods' financial statements. These should be differentiated from changes in accounting estimates, which are not considered errors and are not reported as prior period adjustments.

 

Bloom’s Taxonomy: Apply
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[Question]

132. David and Tom Gardner created The Motley Fool to help investors. What do David and Tom believe is their mission? 

Answer:

David and Tom Gardner created The Motley Fool to educate, amuse and enrich investors. They argue that "the financial world preys on ignorance and fear" and their goal is to provide financial information to the public. This should help investors succeed in the financial world.

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
 
 

Short Answer Questions
 

[Question]

133. A company's sales in 2009 were $280,000 and its sales in 2010 were $341,600. Using 2009 as the base year, what is the sales trend percent for 2010? 

Answer:  $341,600/$280,000 x 100 = 122.0%
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[Question]

134. Calculate the percent increase or decrease for each of the following financial statement items:

 

	
	2011
	2010

	Cash
	$ 37,500
	$ 30,000

	Accounts receivable
	63,000
	52,500

	Inventory
	67,500
	90,000

	Accounts payable
	35,100
	27,000

	Sales
	187,500
	150,000

	Equipment
	165,000
	125,000


  

Answer:

 

	
	Computation (in percent)
	Percent Change

	Cash
	[($37,500 - $30,000) / $30,000 x 100 =
	25% increase

	Accounts receivable
	[($63,000 - $52,500) / $52,500] x 100 =
	20% increase

	Inventory
	[($67,500 - $90,000) / $90,000] x 100 = 
	25% decrease

	Accounts payable
	[($35,100 - $27,000) / 27,000] x 100 =
	30% increase

	Sales
	[($187,500 - $150,000) / $150,000] x 100 =
	25% increase

	Equipment
	[($165,000 - $125,000) / $125,000] x 100 =
	32% increase
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[Question]

135. Comparative statements for Kool Corporation are shown below:
 

	Kool Corporation

Comparative Income Statement

For the years ended December 31

	
	2011
	2010
	2009

	Sales
	$14,800
	$13,229
	$13,994

	Cost of goods sold
	8,225
	8,661
	8,375

	Gross profit
	6,575
	4,568
	5,619

	Operating expenses
	3,664
	3,576
	3,487

	Operating income
	$ 2,911
	$   992
	$ 2,132


 
Calculate trend percentages for all income statement amounts shown and comment on the results. Use 2009 as the base year. 

Answer:

 

	Kool Corporation

Comparative Income Statement

For the years ended December 31

	
	2011
	2010
	2009

	Sales
	105.7%
	94.5%
	100.0%

	Cost of goods sold
	98.2%
	103.4%
	100.0%

	Gross profit
	117.0%
	81.3%
	100.0%

	Operating expenses
	105.1%
	102.5%
	100.0%

	Operating income
	136.5%
	46.5%
	100.0%


 
Comment: During 2010, sales declined, cost of sales increased and operating expenses increased, causing income to be only 46.5% of 2009 income. However, during 2011, sales increased, cost of sales decreased and although operating expenses increased from 2009, 2011 operating income was 136.5% of 2009 income. 2010 was not a good year, but the company seemed to recover in 2011.
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[Question]

136. Calculate the percent increases for each of the following selected balance sheet items.

 

	
	2011
	2010

	Cash
	$   569
	$   448

	Accounts receivable
	2,234
	2,337

	Merchandise inventory
	1,062
	1,071

	Plant assets
	2,432
	2,138

	Bonds payable
	1,164
	1,666

	Equity
	2,777
	2,894


  

Answer:

 

	Cash
	[($569 - $448) / $448 x 100 =
	27.0% increase

	Accounts receivable
	[($2,234 - $2,337) / $2,337] x 100 =
	4.4% decrease

	Merchandise inventory
	[($1,062- $1,071) / $1,071] x 100 = 
	0,8% decrease

	Plant assets
	[($2,432 - $2,138) / $2,138] x 100 =
	13.7% increase

	Bonds payable
	[($1,164 - $1,666) / $1,666] x 100 =
	30.1% decrease

	Equity
	[($2,777 - $2,894) / $2,894] x 100 =
	4.0% decrease
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[Question]

137. For the following financial statement items, calculate trend percents using 2007 as the base year:
 

	
	2011
	2010
	2009
	2008
	2007

	Sales
	$1,195,400
	$1,118,000
	$1,049,000
	$963,200
	$860,000

	Cost of sales
	752,400
	704,000
	671,000
	616,700
	559,000

	Gross profit
	$ 443,000
	$ 414,000
	$ 378,000
	$ 346,500
	$ 301,000


  

Answer:

 

	
	2011
	2010
	2009
	2008
	2007

	Sales
	139.0%
	130.0%
	122.0%
	112.0%
	100%

	Cost of goods sold
	134.6%
	125.9%
	120.0%
	110.3%
	100%

	Gross profit
	147.2%
	137.5%
	125.6%
	115.1%
	100%


 

 

Bloom’s Taxonomy: Analyze
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[Question]

138. Express the following income statement information in common-size percents and in trend percents using 2010 as the base year.

 

	
	
	
	Common-Size Percents
	Trend Percents

	
	2010
	2011
	2010
	2011
	2010
	2011

	Sales
	$460,000
	$540,000
	
	
	
	

	Cost of goods sold
	240,000
	290,000
	
	
	
	

	Gross profit
	220,000
	250,000
	
	
	
	


  

Answer:

 

	
	Common-Size Percents
	Trend Percents

	
	2010
	2011
	2010
	2011

	Sales
	100.0%
	100.0%
	100%
	117%

	Cost of goods sold
	52.2%
	53.7%
	100%
	121%

	Gross profit
	47.8%
	46.3%
	100%
	114%


 

 

Bloom’s Taxonomy: Analyze
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AACSB: Communication
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[Question]

139. A company reports the following comparative income statements:

 

	
	2011
	2010

	Net sales
	$736,000
	$840,000

	Cost of goods sold
	518,880
	571,200

	Gross profit
	$217,120
	$268,800

	Operating expenses
	104,800
	130,000

	Net income
	$112,320
	$138,800


  
What are the costs of goods sold in common-size percents for 2010 and 2011, respectively? 

Answer:

 2011 = 
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[Question]

140. The comparative balance sheet for Golden Co. is shown below. Express these amounts in a comparative, common-size balance sheet.
 

	Golden Company

Comparative Balance Sheets (in $000)

December 31, 2009 – 2011

	
	2009
	2010
	2011

	Cash
	$   49.6
	$   34.2
	$   35.7

	Accounts receivable
	74.4
	85.5
	76.5

	Merchandise inventory
	148.8
	125.4
	91.8

	Plant assets (net)
	347.2
	324.9
	306.0

	Total assets
	$620.0
	$570.0
	$510.0

	
	
	
	

	Accounts payable
	$117.8
	$   51.3
	$   76.5

	Bonds payable
	130.2
	159.6
	107.1

	Common stock
	266.6
	279.3
	265.2

	Retained earnings
	105.4
	79.8
	61.2

	Total liabilities and equity
	$620.0
	$570.0
	$510.0


Answer:   

	Golden Company

Common-size Comparative Balance Sheets

December 31, 2009 – 2011

	
	2009
	2010
	2011

	Cash
	8%
	6%
	7%

	Accounts receivable
	12%
	15%
	15%

	Merchandise inventory
	24%
	22%
	18%

	Plant assets (net)
	56%
	57%
	60%

	Total assets
	100%
	100%
	100%

	
	
	
	

	Accounts payable
	19%
	9%
	15%

	Bonds payable
	21%
	28%
	21%

	Common stock
	43%
	49%
	52%

	Retained earnings
	17%
	14%
	12%

	Total liabilities and equity
	100%
	100%
	100%
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[Question]

141. Express the following balance sheets for Alberts Company in common-size percents.
 

	Alberts Company

Balance Sheet

December 31, 2010 and 2011

	
	2010
	2011

	Assets
	
	

	Cash
	$ 22,000
	$ 43,000

	Accounts receivable
	42,000
	38,000

	Merchandise inventory
	52,000
	61,000

	Prepaid insurance
	9,000
	6,000

	Long-term investments
	20,000
	49,000

	Plant assets (net)
	218,000
	218,000

	Total assets
	$363,000
	$415,000

	
	
	

	Liabilities and Equity
	
	

	Current liabilities
	$ 75,000
	$ 62,000

	Long-term liabilities
	36,000
	45,000

	Common stock
	150,000
	150,000

	Retained earnings
	102,000
	158,000

	Total liabilities and equity
	$363,000
	$415,000


  
Answer:  

	Alberts Company

Balance Sheet

December 31, 2010 and 2011

	
	2010
	2011

	Assets
	
	

	Cash
	6.1%
	10.4%

	Accounts receivable
	11.6%
	9.2%

	Merchandise inventory
	14.3%
	14.7%

	Prepaid insurance
	2.5%
	1.4%

	Long-term investments
	5.5%
	11.8%

	Plant assets (net)
	60.0%
	52.5%

	Total assets
	100.0%
	100.0%

	
	
	

	Liabilities and Equity
	
	

	Current liabilities
	20.7%
	15.0%

	Long-term liabilities
	9.9%
	10.8%

	Common stock
	41.3%
	36.1%

	Retained earnings
	28.1%
	38.1%

	Total liabilities and equity
	100.0%
	100.0%
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[Question]

142. Express the following income statement information in common-size percents (round to nearest whole percent). Comment on the results.


	Thorsten Corp.

Comparative Income Statement

For Years Ended December 31, 2011 and 2010

	
	2011
	2010

	Sales
	$1,200,000
	$1,000,000

	Cost of goods sold
	804,000
	650,000

	Gross profit 
	$  396,000
	$  350,000

	Selling expenses
	132,000
	120,000

	Administrative expenses
	180,000
	150,000

	Net income
	$   84,000
	$   80,000


 
Answer:

	
	2011
	2010

	Sales
	100%
	100%

	Cost of goods sold
	67%
	65%

	Gross profit 
	33%
	35%

	Selling expenses
	11%
	12%

	General expenses
	15%
	15%

	Net income
	7%
	8%


 
Comments: Although a smaller portion of each sales dollar went to selling expenses in 2011, the lower gross profit ratio created an unfavorable situation resulting in a 1% reduction in profit margin. If the gross profit ratio had remained at the 2010 percent, gross profit would have been $420,000 and net income would have been $108,000, yielding a profit margin of 9% rather than 7%.
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[Question]

143. Use the balance sheets of Sando shown below to calculate the following ratios for 2010 (round to the hundredths): 
(a) Current ratio.
(b) Acid-test ratio.
(c) Debt ratio.
(d) Equity ratio.

 

	Sando Company

Balance Sheets

December 31, 2010

	Assets:
	

	Cash
	$  43,000

	Accounts receivable
	38,000

	Merchandise inventory
	61,000

	Prepaid insurance 
	6,000

	Long-term investments
	49,000

	Plant assets (net)
	218,000

	Total assets 
	$415,000

	
	

	Liabilities and Equity:
	

	Current liabilities
	$ 62,000

	Long-term liabilities
	45,000

	Common stock
	150,000

	Retained earnings
	158,000

	Total liabilities and equity
	$415,000


  

Answer:

(a) ($43,000 + $38,000 + $61,000 + $6,000)/$62,000 = 2.39
(b) ($43,000 + $38,000)/$62,000 = 1.31
(c) ($62,000 + $45,000)/$415,000 = 25.78%
(d) ($150,000 + $158,000)/$415,000 = 74.22%
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[Question]

144. The following information is available for the McCartney Corporation:


	Sales
	$750,000

	Cost of goods sold
	450,000

	Gross profit
	300,000

	Operating income
	85,000

	Net income
	42,000

	Inventory, beginning-year
	71,200

	Inventory, end-of-year
	48,800


  
Calculate the company's inventory turnover and its days' sales in inventory. 

Answer:

 Inventory turnover = 
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Days' sales in inventory = ($48,800/$450,000) x 365 = 39.6 days

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 13-P3
 
[Question]

145. The following current year information is available from a manufacturing company:

 

	Sales
	$640,000

	Gross profit on sales
	276,000

	Operating income
	64,000

	Income before taxes
	44,000

	Net income
	33,600

	Accounts Receivable, beginning-year
	58,000

	Accounts Receivable, end-of-year
	70,000


 
Calculate the company's accounts receivable turnover and its days' sales uncollected. 

Answer:

 

	Accounts receivable turnover = $640,000 / [($58,000 + $70,000) / 2]
	10 times

	Days’ sales uncollected = ($70,000 / $640,000) x 365 =
	39.9 days
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[Question]

146. Information from a manufacturing company's current year income statement follows for the current year:
 

	Sales
	$800,000

	Cost of goods sold
	455,000

	Gross profit
	$345,000

	Operating expenses
	265,000

	Operating income
	$ 80,000

	Interest expense
	32,000

	Income before taxes
	$ 48,000

	Income taxes expense
	12,400

	Net income
	$35,600


 
Calculate the company's times interest earned. 

Answer:

$80,000/$32,000 = 2.5 times
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[Question]

147. A company reported net income of $78,000 and had 15,000 common shares outstanding throughout the current year. At year-end, the price per share of the company's stock was $49.40. What is the company's year-end price-earnings ratio? 

Answer:
Earnings per share = $78,000/15,000 shares = $5.20 per share
Price-earnings ratio = $49.40/$5.20 = 9.5
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[Question]

148. A company paid cash dividends on its preferred stock of $40,000 in the current year when its net income was $120,000 and its average common stockholders' equity was $640,000. What is the company's return on common stockholders' equity? 

Answer:

($120,000 - $40,000)/$640,000 = 12.5%
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[Question]

149. Use the financial data shown below to calculate the following ratios for the current year: 
(a) Current ratio.
(b) Acid-test ratio.
(c) Accounts receivable turnover.
(d) Days' sales uncollected.
(e) Inventory turnover.
(f) Days' sales in inventory.

 

	Income statement data
	
	

	Sales
	$650,000
	

	Cost of goods sold
	425,000
	

	Income before taxes
	78,000
	

	Net income
	54,600
	

	
	
	

	
	Ending Balances
	Beginning Balances

	Cash
	$  19,500
	$  15,000

	Accounts receivable (net)
	65,000
	60,000

	Inventory
	71,500
	64,500

	Plant and equipment (net)
	195,000
	183,900

	Total assets
	$351,000
	$323,400

	
	
	

	Current liabilities
	$  62,400
	$  52,700

	Long-term notes payable
	97,500
	100,000


  

Answer:
(a)  

	Current ratio:
	

	($19,500 + $65,000 + $71,500) / $62,400 =
	2.5


 
(b)  

	Acid-test ratio:
	

	($19,500 + $65,000) / $62,400 =
	1.35


 
(c)  

	Accounts receivable turnover:
	

	$650,000 / [($65,000 + $60,000) / 2] =
	10.4 times


 

(d)  

	Days’ sales uncollected:
	

	($65,000 / $650,000) x 365 =
	36.5 days


 
(e)  

	Inventory turnover:
	

	$425,000 / [($71,500 + $64,500) / 2] = 
	6.25 times


 
(f)  

	Days’ sales in inventory:
	

	($71,500 / $425,000) x 365
	61.4 days
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[Question]

150. A company's calendar-year financial data are shown below. The company has pledged all of its net plant assets as security for its long-term notes payable:


	Sales
	$650,000

	Cost of goods sold
	422,500

	Gross profit
	$227,500

	Operating expenses
	140,500

	Operating income
	$ 87,000

	Interest expense
	9,100

	Income before taxes
	$ 77,900

	Income taxes
	23,400

	Net income
	$ 54,500

	
	

	
	Ending Balances

	Cash
	$ 19,500

	Accounts receivable (net)
	65,000

	Inventory
	71,500

	Plant assets (net)
	195,000

	Total assets
	$351,000

	
	

	Current liabilities
	$ 74,100

	Long-term notes payable 
	97,500

	Common stock
	65,000

	Retained earnings
	114,400

	Total liabilities and equity
	$351,000


 
Calculate the following ratios for this company: 
(a) Equity ratio.
(b) Pledged assets to secured liabilities ratio.
(c) Times interest earned. 

Answer:

(a) Equity ratio:
[($65,000 + $114,400)/$351,000] x 100 = 51%
(b) Pledged assets to secured liabilities:
$195,000/$97,500 = 2 to 1
(c) Times interest earned:
$87,000/$9,100 = 9.6 times
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[Question]

151. Comparative calendar-year financial data for a company are shown below:


	
	2011
	2010

	Sales
	$ 720,000
	$ 607,500

	Cost of goods sold
	450,000
	382,700

	Operating expenses
	168,500
	134,900

	Net income
	51,200
	51,700

	
	
	

	
	December 31,
	December 31,

	
	2011
	2010

	Accounts receivable (net
	$ 157,500
	$162,500

	Inventory
	139,500
	110,500

	Total assets
	1,012,500
	944,800


 
Calculate: 
(1) Accounts receivable turnover for 2011.
(2) Days' sales uncollected for 2011.
(3) Inventory turnover for 2011.
(4) Days' sales in inventory for 2011. 

Answer:

(1) Accounts receivable turnover:
= $720,000/[($157,500 + $162,500)/2]
= 4.5 times
(2) Days' sales uncollected:
($157,500/$720,000) x 365 = 79.8 days
(3) Inventory turnover:
= $450,000/ [($139,500 + $110,500) (/2]
= 3.6 times
(4) Days' sales in inventory:
($139,500/$450,000) x 365 = 113.2 days
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[Question]

152. Comparative calendar year financial data for a company are shown below:
 

	
	2011
	2010

	Sales
	$ 720,000
	$ 607,500

	Gross profit
	270,000
	224,800

	Income before taxes
	79,200
	78,700

	Net income
	51,200
	51,700

	
	
	

	
	December 31,
	December 31,

	
	2011
	2010

	Liabilities
	$ 493,500
	$ 452,500

	Common stock ($12 par)
	180,000
	180,000

	Contributed capital in excess of par
	135,000
	135,000

	Retained earnings
	204,000
	177,300

	Total liabilities and equity
	$1,012,500
	$ 944,800


  Calculate:
(1) Return on total assets for 2011.
(2) Return on common stockholders' equity for 2011. 

Answer:
(1) Return on total assets:
= (Net income/Average total assets)
= $51,200/[($1,012,500 + $944,800)/2]
= 5.2%
(2)  

	
	2011
	2010

	Common stock
	$180,000
	$180,000

	Contributed capital in excess of par
	135,000
	135,000

	Retained earnings
	204,000
	177,300

	Total equity
	$519,000
	$492,300


 Return on common stockholders' equity:
= Net income/Average common stockholders' equity
= $51,200/ [($519,000 + $492,300)/2]
= 10.1%
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[Question]

153. The current year-end balance sheet data for a company are shown below:

 

	Assets: 
	

	Cash
	$     18,000

	Marketable securities 
	45,000

	Accounts receivable (net)
	157,500

	Merchandise inventory
	139,500

	Long-term investments
	135,000

	Plant assets (net)
	517,500

	Total assets
	$1,012,500

	
	

	Liabilities and equity:
	

	Accounts payable
	$  168,700

	Accrued liabilities
	90,000

	Notes payable (secured by plant assets)
	234,800

	Common stock ($12 par)
	180,000

	Contributed capital in excess of par
	135,000

	Retained earnings 
	204,000

	Total liabilities and equity
	$1,012,500


  
Calculate this company's:
(1) Working capital.
(2) Acid-test ratio. 

Answer:

1)   Working capital = $360,000 - $258,700 = $101,300

	Cash
	$     18,000

	Marketable securities 
	45,000

	Accounts receivable 
	157,500

	Merchandise inventory
	139,500

	Total current assets
	360,000

	
	

	Accounts payable 
	$168,700

	Accrued liabilities
	90,000

	Total current liabilities 
	$258,700



   
2) Acid-test ratio = $220,500/$258,700 = 0.85

	Cash
	$     18,000

	Marketable securities 
	45,000

	Accounts receivable 
	157,500

	Total quick assets 
	$220,500


Bloom’s Taxonomy: Analyze
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[Question]
154. The 2011 income statement for Golden Company is shown below:


	Golden Company

Income Statements

For the Year Ended December 31, 2011

	
	

	Sales 
	$720,000

	Cost of goods sold
	450,000

	Gross profit
	$270,000

	Operating expense
	168,500

	Income from operations
	$101,500

	Interest expense
	22,300

	Income before taxes
	$ 79,200

	Income taxes
	28,000

	Net income
	51,200


 Calculate the times interest earned ratio for 2011. 

Answer: Times interest earned ratio
= Income before interest and taxes/Interest expense
= $101,500/$22,300
= 4.55 times
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[Question]

155. A corporation reports the following year-end balance sheet data:
 

	Cash
	$ 40,000
	Current liabilities
	$ 64,000

	Accounts receivable
	35,000
	Long-term liabilities
	72,000

	Inventory
	60,000
	Common stock
	100,000

	Equipment
	150,000
	Retained earnings
	49,000

	Total assets
	$285,000
	Total liabilities and equity
	$285,000


 
Calculate the corporation's current ratio and its acid-test ratio. 

Answer:

 Current ratio = 
[image: image4.wmf]  
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 Acid-test ratio = 
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[Question]

156. Selected balances from a company's financial statements are shown below:

 

	
	Dec. 31, 2010
	Dec. 31, 2011
	For the Year 2011

	Merchandise inventory
	$ 15,000
	$ 20,000
	

	Accounts payable
	32,000
	26,000
	

	Salaries payable
	4,400
	3,000
	

	Accounts receivable
	24,000
	21,000
	

	Total assets
	234,000
	286,000
	

	Sales (all on credit)
	
	
	$312,000

	Cost of goods sold
	
	
	165,600

	Salaries expense
	
	
	48,000

	Other expenses 
	
	
	75,000

	Net income
	
	
	24,000


 
Use the information above to calculate the following current year ratios: 
(a) 2011 Inventory turnover.
(b) Days' sales uncollected at Dec. 31, 2011.
(c) 2011 Profit margin.
(d) 2011 Return on total assets. 

Answer:

(a) Inventory turnover = $165,600/[($15,000 + $20,000)/2] = 9.5 times
(b) Days' sales uncollected = ($21,000/$312,000) x 365 = 24.6 days
(c) Profit margin = ($24,000/$312,000) x 100 = 7.7%
(d) Return on total assets = $24,000/[($234,000 + $286,000)/2] = 9.2%
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[Question]

157. The following selected company information was reported:
 

	Accounts receivable, beginning-year
	$170,000

	Accounts receivable, year-end
	190,000

	Merchandise inventory, beginning-year
	80,000

	Merchandise inventory, year-end
	60,000

	Cost of goods sold
	580,000

	Credit sales 
	1,000,000


 
Calculate the following company ratios: 
(a) Accounts receivable turnover.
(b) Inventory turnover.
(c) Days' sales uncollected. 

Answer:

(a) 


	Accounts receivable turnover =
	

	$1,000,000 / [($170,000 + $190,000) / 2] =
	5.6 times


  
(b) Inventory turnover = $580,000/[($80,000 + $60,000)/2] = 8.3 times
(c) Days' sales uncollected = ($190,000/$1,000,000) x 365 = 69.35 days
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[Question]

158. Selected current year company information follows:
 

	Net income
	$  325,000

	Net sales
	4,700,000

	Total liabilities, beginning-year
	550,000

	Total liabilities, end-of-year
	530,000

	Total stockholders’ equity, beginning-year
	760,000

	Total stockholders’ equity, end-of-year
	745,000


 
Calculate the following company ratios: 
(a) Profit margin.
(b) Total asset turnover.
(c) Return on total assets.
(d) Return on common stockholders' equity (assume the company has no preferred stock). 


Answer:

	(a)
	Profit margin = ($325,000/$4,700,000) = 
	6.9%

	
	
	


	(b)
	
	Beginning
	Ending

	
	Total liabilities

	$   550,000
	$   530,000

	
	Total equity

	     760,000
	     745,000

	
	Total assets

	$1,310,000
	$1,275,000


	
	Total asset turnover = $4,700,000/[($1,310,000 + $1,275,000)/2] = 
	3.64

	
	
	

	(c)
	Return on total assets = 
	

	
	$325,000/[($1,310,000 + $1,275,000)/2] = 
	25.1%

	
	
	

	(d)
	Return on common stockholders' equity = 
	

	
	$325,000/[($760,000 + $745,000)/2] = 
	43.2%
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[Question]

159. Use the following information from the current year financial statements of a company to calculate the ratios below: 
(a) Current ratio.
(b) Accounts receivable turnover. (Assume the prior year's accounts receivable balance was $100,000.)
(c) Days' sales uncollected.
(d) Inventory turnover. (Assume the prior year's inventory was $50,200.)
(e) Times interest earned ratio.
(f) Return on common stockholders' equity. (Assume the prior year's common stock balance was $480,000 and the retained earnings balance was $128,000.)
(g) Earnings per share (assuming the corporation has a simple capital structure, with only common stock outstanding).
(h) Price earnings ratio. (Assume the company's stock is selling for $26 per share.)
(i) Divided yield ratio. (Assume that the company paid $1.25 per share in cash dividends.)
 

	Income statement data:
	

	Sales (all on credit)
	$1,075,000

	Cost of goods sold
	575,000

	Gross profit on sales
	$  500,000

	Operating expenses
	305,000

	Operating income
	$  195,000

	Interest expense
	20,400

	Income before taxes
	$  174,600

	Income taxes
	74,000

	Net income 
	$  100,600


 
 

	Balance sheet data: 
	

	Cash
	$  38,400

	Accounts receivable
	120,000

	Inventory
	56,700

	Prepaid Expenses
	24,000

	Total current assets
	$239,100

	Total plant assets
	708,900

	Total assets
	$948,000

	Accounts payable
	$  91,200

	Interest payable
	4,800

	Long-term liabilities
	204,000

	Total liabilities
	$300,000

	Common stock, $10 par
	480,000

	Retained earnings
	168,000

	Total liabilities and equity
	$948,000


  Answer:
	(a)
	Cash

	$  38,400

	
	Accounts receivable
`
	120,000

	
	Inventory

	56,700

	
	Prepaid expenses

	    24,000

	
	Total current assets

	$239,100

	
	
	

	
	Accounts payable

	$91,200

	
	Interest payable

	     4,800

	
	Total current liabilities

	$96,000


	
	Current ratio = $239,100/$96,000 =
	2.5 to 1

	
	
	

	(b)
	Accounts receivable turnover = 
	

	
	$1,075,000/[$120,000 + $100,000)/2] = 
	9.8 times

	
	
	

	(c)
	Days' sales uncollected = ($120,000/$1,075,000) x 365 = 
	40.7 days

	
	
	

	(d)
	Inventory turnover = $575,000/[($56,700 + $50,200)/2] = 
	10.7 times

	
	
	

	(e)
	Times interest earned = $195,000/$20,400 = 
	9.6 times

	
	
	


	(f)
	
	Beginning
	Ending

	
	Common stock

	$480,000
	$480,000

	
	Retained earnings

	  128,000
	  168,000

	
	Total equity

	$608,000
	$648,000


	
	Return on common stockholders' equity = 
	

	
	$100,600/[($608,000 + $648,000)/2] = 
	16%

	
	
	

	(g)
	Number of shares of common stock = $480,000/$10 par = 48,000 shares
	

	
	Earnings per share = $100,600/48,000 shares = 
	$2.10

	
	
	

	(h)
	Price earnings ratio = $26/$2.10 = 
	12.4

	
	
	

	(i)
	Dividend yield ratio = $1.25/$26 = 
	4.8% 
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[Question]

160. The following information is from Omega Corporation's balance sheets as of December 31, 2010 and 2011 and its income statement for 2011:
 

	
	2011
	2010

	Assets:
	
	

	Cash
	$  18,000
	$  22,000

	Marketable securities
	25,000
	0

	Accounts receivable
	38,000
	42,000

	Inventory
	61,000
	52,000

	Prepaid insurance
	6,000
	9,000

	Long-term investments
	49,000
	20,000

	Plant assets, net
	218,000
	225,000

	Total assets
	$415,000
	$370,000

	
	
	

	Net income
	$  62,250
	

	Sales (all on credit)
	305,000
	

	Cost of goods sold
	123,000
	

	Interest expense 
	15,600
	

	Income tax expense
	27,000
	


 
From the above information, calculate the following ratios for 2011: 
(a) Inventory turnover.
(b) Accounts receivable turnover.
(c) Return on total assets.
(d) Times interest earned.
(e) Total asset turnover. 

Answer:

	(a)
	Inventory turnover:  
	

	
	$123,000/[($61,000+$52,000)/2] = 
	2.2 times

	
	
	

	(b)
	Accounts receivable turnover:
	

	
	$305,000/[($38,000+$42,000)/2] =
	7.6 times

	
	
	

	(c) 
	Return on total assets:
	

	
	$62,250/[($415,000+$370,000)/2] = 
	15.9%

	
	
	

	(d)
	Times interest earned:
	

	
	($62,250 + $15,600 + $27,000)/$15,600 = 
	6.7 times

	
	
	

	(e)
	Total asset turnover:
	

	
	$305,000/[($415,000+$370,000)/2] = 
	0.78 times
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[Question]

161. The following are summaries from the Income Statements and Balance Sheets of Red Shoe, Inc. and Blue Shoe, Inc.
 

	Red Shoe, Inc.

Consolidated Balance Sheets

(in millions)

	
	May 31

	
	2011
	2010

	ASSETS

	Current assets:
	
	

	     Cash and cash equivalents
	$634.0
	$575.5

	     Accounts receivable, net of allowance
	2,101.1
	1,804.1

	     Inventories
	1,514.9
	1,373.8

	     Other current assets
	429.9
	401.3

	       Total current assets
	4,679.9
	4,154.7

	Property, plant, and equipment, net
	1,620.8
	1614.5

	Other long-term assets
	413.2
	670.8

	     Total assets
	$6,713.9
	$6,440.0

	
	
	

	LIABILITIES AND STOCKHOLDERS EQUITY

	Current liabilities:
	
	

	     Current portion of long-term debt
	$205.7
	$55.3

	     Notes payable
	75.4
	425.2

	     Accounts payable
	572.7
	504.4

	     Accrued liabilities
	1,054.2
	765.3

	     Income taxes payable
	107.2
	83.0

	       Total current liabilities
	2,015.2
	1,833.2

	Long-term liabilities
	708.0
	767.8

	       Total liabilities
	2,723.2
	2,601.0

	Stockholders’ equity:
	
	

	     Common stock 
	2.8
	2.8

	     Contributed capital in excess of par value
	589.0
	538.7

	       Unearned stock compensation
	(0.6)
	(5.1)

	     Accumulated other comprehensive loss
	(239.7)
	(192.4)

	     Retained earnings
	3,639.2
	3,495.0

	       Total stockholders’ equity
	3,990.7
	3,839.0

	         Total liabilities and stockholders’ equity
	$ 6,713.9
	$ 6,440.0


 


 

	Red Shoe, Inc.

Consolidated Statement of Income

May 31, 2011
(in millions)

	Revenues
	$ 10,697.0

	Cost of sales
	6,313.6

	Gross profit
	4,383.4

	Operating expenses
	3,137.6

	Operating income 
	1,245.8

	Interest expense
	42.9

	Other revenues and expenses
	79.9

	Income before tax
	1,123.0

	Income taxes
	382.9

	Income before effect of accounting change
	740.1

	Cumulative effect of accounting change, net of tax
	266.1

	Net income
	$ 474.0


 



 

	Blue Shoe, Inc.

Consolidated Balance Sheets

(in millions)

	
	Jan. 3, 

2011
	Jan. 4, 

2010

	ASSETS

	Current assets:
	
	

	     Cash and cash equivalents
	$34.5
	$22.2

	     Accounts receivable, net of allowance
	15.5
	14.7

	     Inventories
	27.2
	28.4

	     Other current assets
	3.5
	4.2

	       Total current assets
	80.7
	69.5

	Property, plant, and equipment, net
	5.7
	7.0

	Other long-term assets
	1.1
	1.5

	     Total assets
	$87.5
	$78.0

	
	
	

	LIABILITIES AND STOCKHOLDERS EQUITY

	Current liabilities:
	
	

	     Accounts payable
	$8.5
	$6.6

	     Accrued liabilities
	7.8
	5.6

	       Total current liabilities
	16.3
	12.2

	Long-term liabilities
	2.5
	2.6

	       Total liabilities
	18.8
	14.8

	Stockholders’ equity:
	
	

	     Common stock 
	2.3
	2.3

	     Contributed capital in excess of par value
	17.8
	17.4

	       Unearned stock compensation
	(0.1)
	(0.5)

	     Accumulated other comprehensive loss
	(0.9)
	(1.3)

	     Treasury stock
	(6.3)
	(5.4)

	     Retained earnings
	55.9
	50.7

	     Total stockholders’ equity
	68.7
	63.2

	       Total liabilities and stockholders’ equity
	$87.5
	$78.0


 


 

	Blue Shoe, Inc.

Consolidated Statement of Income

January 3, 2011
(in millions)

	Revenues
	$ 133.5

	Cost of sales
	87.3

	Gross profit
	46.2

	Operating expenses
	37.3

	Operating income 
	8.9

	Interest expense
	(0.1)

	Other revenues and expenses
	0.3

	Income before tax
	9.1

	Income taxes
	3.9

	Net income
	$5.2


 
(1) For both companies compute the following ratios for 2011: 

(a) Current ratio
(b) Acid-test ratio
(c) Accounts receivable turnover
(d) Inventory turnover
(e) Days' sales in inventory
(f) Days' sales uncollected
Which company do you consider to be the better short-term credit risk? Explain.
(2) For both companies compute the following ratios for 2011:
(a) Profit margin ratio
(b) Return on total assets
(c) Return on common stockholders' equity
Which company do you consider to have better profitability ratios? 

Answer: 

	
	
	Red Shoe
	Blue Shoe

	(1)
	
	
	

	(a)
	Current ratio
	$4,679.9 / $2,015.2 

=  2.3
	$80.7 / $16.3

= 4.9

	(b)
	Acid-test ratio
	($634.0 + $2,101.1) / $2,015.2 = 1.4
	($34.5 + $15.5) / $16.3 = 3.1

	(c)
	Accounts receivable turnover
	$10,697.0 / [($2,101.1 + $1,804.1) / 2] =  5.5
	$133.5 / [($15.5 + $14.7) / 2] = 8.8

	(d)
	Inventory turnover
	$6,313.6 / [($1,514.9 + $1,373.8) / 2] = 4.4
	$87.3 / [($27.2 + $28.4) / 2] = 3.1

	(e)
	Days’ sales in inventory
	($1,514.9 / $6,313.6)  365 = 87.6 days
	($27.2 / $87.3) x 365 = 113.7 days

	(f)
	Days’ sales uncollected
	($2,101.1 / $10,697.0) x 365 = 71.7 days
	($15.5 / $133.5) x 365 = 42.4 days


 

Comment:
Blue Shoe has higher current ratios and acid-test ratios than Red Shoe and collects its accounts receivable more quickly. Red Shoe, on the other hand, has a higher inventory turnover and sells its inventory more quickly. Blue Shoe appears to be the better short-term credit risk.



 

	
	
	Red Shoe
	Blue Shoe

	(2)
	
	
	

	(a)
	Profit margin ratio
	$474.0 / $10,697.0 = 4.4%
	$5.2 / $133.5 = 3.9%

	(b)
	Return on total assets
	$474.0 / [($6,713.9 + $6,440.0) / 2] = 7.2%
	$5.2 / [($87.5 + $78.0) / 2] – 6.3%

	(c)
	Return on common stockholders’ equity
	$474.0 / [($3,990.7 + $3,839.0) / 2] = 12.1%
	$5.2 / [($68.7 + $63.2) / 2] = 7.9%


 

Comment: Red Shoe has performed better than Blue Shoe on all of the profitability measures.
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[Question]

162. Given the following information about a corporation's current year activities, answer the questions below:

 

	
	Debit
	Credit

	Sales
	
	$250,000

	Cost of goods sold
	$90,000
	

	Other operating expenses
	54,000
	

	Income from operation of discontinued Division W (net of $9,200 tax)
	
	30,800

	Extraordinary loss from hurricane damage (net of $11,000 tax benefit)
	37,000
	

	Loss from disposal of Division W (net of $15,000 tax benefit)
	45,000
	

	Unusual loss on sale of equipment
	12,000
	

	Correction of error made in recording depreciation last year (net of $3,000 tax)
	9,500
	

	Effect on prior years’ income of changing depreciation methods (net of $4,000 tax)
	13,500
	


 

Compute the amounts that should be reported on the income statement as: 
(1) Income from continuing operations.
(2) Income before extraordinary items and cumulative effect of changes in accounting principles.
(3) Net income. 

Answer:

(1) $94,000* (2) $79,800** (3) $29,300***
Supporting computations:
 

	Sales
	
	$250,000

	     Costs and expenses:
	
	

	     Cost of goods sold
	$ 90,000
	

	     Other operating expenses
	54,000
	(144,000)

	     Unusual loss on sale of equipment
	
	(12,000)

	Income from continuing operations
	
	$94,000*

	Discontinued operations:
	
	

	     Income from operations of discontinued Division W (net of $9,200 tax)
	30,800
	

	     Loss from disposal of Division W (net of $15,000 tax benefit)
	(45,000)
	(14,200)

	     Income before extraordinary items and cumulative effect of a change in accounting principle
	
	$ 79,800**

	Extraordinary items:
	
	

	     Loss from hurricane damage (net of $11,000 tax benefit)
	(37,000)
	

	Cumulative effect of a change in accounting principle:
	
	

	     Effect on prior years’ income of changing depreciation methods (net of $4,000 tax)
	(13,500)
	(50,500)

	Net income
	
	$ 29,300***
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[Question]

163. Explain where each of the following items should appear in the financial statements of a corporation: 
(1) The accounting department discovered that an entry was made last year to Prepaid Insurance instead of to Insurance Expense. The after-tax effect of the charge to Prepaid Insurance was $11,000.
(2) One of the company's plants was destroyed by an earthquake. The area has never reported an earthquake. The amount of the loss, net of tax, was $850,000. 

Answer:

(1) This is an error that should be reported as a prior period adjustment. Accordingly, it should be reported in the statement of retained earnings, net of taxes, as a reduction from the beginning retained earnings balance.
(2) This loss is both unusual and infrequent. Accordingly, it should be reported on the income statement as an extraordinary item.
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 [Question]

164.   A company has a current ratio of 3.4, total liabilities of $350,240, and long-term notes payable of $120,000.  What is the total of current assets for the company? 

Answer:  $782,816

Feedback:  3.4 = X/(350,240-120,000); X = $782,816
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 [Question]

165.   A company has a current ratio of 1.92, total liabilities of $193,849, long-term notes payable of $85,791, a quick ratio of .96.  What is the total of the current assets for the company? 

Answer:  $207,471

Feedback:  1.92 = X/(193,849-85,791); X = $207,471
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 [Question]

166.   A company has a current ratio of 1.92, total liabilities of $193,849, long-term notes payable of $85,791, a quick ratio of .96.  What is the total of the quick assets for the company? 

Answer:  $103,736

Feedback:  .96 = X/(193,849-85,791); X = $103,736
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[Question]

167.   A company has an inventory turnover ratio of 2.81, merchandise inventory for 2011 is $93,303, and average inventory of $83,397.  What is the cost of goods sold? 

Answer:  $234,346

Feedback:  2.81 = X/83,397 = $234,346
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[Question]

168.   A company has an inventory turnover ratio of 2.90, merchandise inventory for 2011 is $46,095, and cost of goods sold is $173,420.  What is the average inventory? 

Answer:  $59,800

Feedback:  2.90 = 173,420/X = $59,800
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Fill in the Blank Questions
 

[Question]

169. ______________________________ applies analytical tools to general-purpose financial statements and related data for making business decisions. 
Answer:  Financial statement analysis.
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[Question]

170. A common focus of financial statement users in evaluating a company's performance includes evaluation of its (1) ______________________________, (2) ________________________ and (3) ____________________________. 
Answer:  Past and current performance; current financial position; future performance and risk
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[Question]

171. General-purpose financial statements include the (1) ___________________, (2) ___________________, (3) _____________________________, (4) ________________________ and (5) _____________________________. 
Answer:  Income statement, balance sheet, statement of changes in equity (or statement of retained earnings), statement of cash flows, notes to the financial statements
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[Question]

172. The four building blocks of financial analysis are (1) ____________________, (2) __________________________, (3) ____________________ and (4) _____________________. 
Answer:  Liquidity and efficiency; solvency; profitability; market prospects
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[Question]

173. The standards for comparisons in financial statement analysis include (1) _______________, (2) ________________, (3) _________________ and (4) _______________. 
Answer:  Intracompany, competitor, industry, guidelines (rules-of-thumb)
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[Question]

174. The comparison of a company's financial condition and performance across time is known as ________________________________. 
Answer:  Horizontal analysis
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[Question]

175. The comparison of a company's financial condition and performance to a base amount is known as _____________________________. 
Answer:  Vertical analysis
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[Question]

176. The measurement of key relationships between financial statement items is known as _____________________________. 
Answer:  Ratio analysis
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[Question]

177. Three of the most common tools of financial analysis are (1) _________________________, (2) ___________________________ and (3) ______________________________. 
Answer:  Horizontal analysis; vertical analysis; ratio analysis
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[Question]

178. A good financial statement analysis report usually includes the following six sections: (1) ________________________, (2) ______________________, (3) _________________, (4) __________________ (5) ____________________ and (6) ______________________. 
Answer:  Executive summary, analysis overview, evidential matter, assumptions, key factors, inferences
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[Question]

179. A _____________________________ is a part of a company's operations that serves a particular line of business or class of customers. 
Answer:  Business segment
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[Question]

180. An extraordinary gain or loss is one that is both ________________ and _________________. 
Answer:  Unusual; infrequent
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[Question]

181. A company can change from one acceptable accounting principle to another as long as the change __________________________________________ in its financial statements. 
Answer:  Improves the usefulness of the information
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[Question]

182. _______________ are reports where financial amounts are placed side-by-side in columns on a single statement for analytical purposes. 
Answer:  Comparative financial statements
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[Question]

183. Trend percentage is calculated by dividing _________________________ by ___________________________ and multiplying the result by 100. 
Answer:  Analysis period amount; base period amount
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[Question]

184. ____________ is a method of analysis used to evaluate individual financial statement items or groups of items in terms of a specific base amount. 
Answer:  Vertical analysis
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[Question]

185. The current ratio and acid-test ratio are used to reflect the ____________ of a business. 
Answer:  Liquidity
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[Question]

186. The debt ratio, the equity ratio, pledged assets to secured liabilities and times interest earned are all ___________________ ratios. 
Answer:  Solvency
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[Question]

187. The gross margin ratio, return on total assets and basic earnings per share are all _____________ ratios. 
Answer:  Profitability
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[Question]

188. ______________________ ratios include the price-earnings ratio and dividend yield. 
Answer:  Market prospects
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